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BBA-506

- TRANSPORT MANAGEMENT

Time Al]dtted: 3 Hours , ' Full Marks: 70

The questions are of equal value.
The figures in the margin indicate full marks.
Candidates are required fo give their answers in their own words as far as practzcable

. GROUP A
(Multiple Choice Type Questlons)

1. Answer any fen questlons ‘ , 10x1 =10

(i) NHAI stands for v
(A) National Highways Act of India
(B) National hillways Authority of India -
(C) National Highways Authonty of India

~ (D) none of these g "
(ii) The largest COmmodity cam'ed-through major ports is
(A) iron ore (B) coal - (O) fertilizers (D) POL
(iil) In case of loss of railway receipt, the conSigneé can take the delivery of
goods through v
(A)a consignment note : (B) an indemnity bond |
(C) a forwarding note ’ (D) any of these
(iv) Which of the following is a major vs'eaport in India?
(A) Marmagaon port (B) Kankinara port
(C) Bansberia port ‘ (D) none of these

(v) Air India was formed in
(A) March, 1978(B) March, 1948 (C) March, 1958 (D) March, 1968
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(vi) Railways Risk Rhte is an
(A) ordinary tariff rate for goods (B) salary to railway staff
(C) cost of locomotives - (D) passenger fare
(vii) The Indian Railway network is divided into | |
(A) 12 zones (B)16zones - (C)19 zones (D) 15 zones
(viii) A charter patty is
(A) a party who is the sender of goods
(B) a merchant who hires the ship for sending large quantity of goods

(C) a merchant who has a ship lending for sending goods
(D) none of these :

(ix) The act of throwing goods‘with the object of saving,' other caréo is called

(A) jettison o (B) wharfage
(C) demurrage - (D) none of these
(x) MDR stands for: |
(A) Major Developed Roads ~ (B) Modern District Roads
(C) Major District Roads - (D)Main District Roads
ﬂ(xi) The costliest mode of Transport is
(A) water transport : (B) air transport -
(C) rail transport (D) road transport
GROUPB

(Short Answer Type Questions)

Answer any three questions. - 3x5=15

2. What is logistics? Write about transportation logistics.
3. Write the advantages of multimodal transport system.

4, Write short note on multimodal transport document.
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5. Write in brief on different vessel qpérations, perfo_rined in case of water
‘ transport. '
6.  Enumerate in short the initiatives taken by the Indian government to

encourage private sector participation in road sector development.

GROUP C
(Long Answer Type Questions)
Answer any three questions. - ’ 3x15=45
7. (a) What do you mean by ‘Mulitimodal Transport Operator’? 3+5+7

~ (b) What are the functions performed by Port Trust?
(c) Write a note on the various forms of multimodal transport.

8. (a) What are the functions of airports? v | . 5+5+5
(b) What are the advantages of air transport? :
(c) Discuss the commercial aspects of air transport.

9. (a) Write a short note on the National Watefway Network in India. - 5+10

(b) What are the different types of ships for carrying freight traffic?
: 10v.(a) State some of the recent initiatives taken by the government tb 5+10
strengthen railway infrastructure.

(b) Discuss in detail the procedure of sendmg goods by rail transport

11.  Write short notes on any three of the following: 3x5
(a) Economic significance of road transport.
(b) Railway receipt.
(c) 4 PL Service Provider.
(d) DGCA.
(e) Integrated Logistics and Transportatlon _
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